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I % :lb ﬂ & 7'( ,E_%-'a'_. | 5. (10%) Find the Fourier cosine and sine series of the function
- — ot Sx)=1,0=x=2.
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6. (15%) Using Laplace transform, find the solution of the initial value problem
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. (15%) A curve with Cartesian equation y =f{x) passes through the origin.

Lines drawn parallel to the coordinate axes through an arbitrary point of the
curve form a rectangle with two sides on the axes. The curve divides every
such rectangle into two regions 4 and B, one of which has an area equal to »
times the other. Find the function £

. (15%) Solve the given differential equation by using an appropriate
substitution.

% =sin(x+)
. (15%) Use Green’s theorem to compute the work done by the force field

ﬁ‘ x.y) =(y-|—3x); —f—(2y—x)}' in moving a particle once around the ellipse

4x”+y*=4 in the counterclockwise direction.

. (15%) Solve the linear system

%:a+@
b
g x+2y

subject to the initial conditions x(0)=2, y(0)=3.





